107 =

(8 ) (rad)

=
S
o

o108k eond oo o108k _eond oo
S F S F
o N o N
0 5_— ''''''''''''''''''''''''''''''''''''' 0 5_— '''''''''''''''''''''''''''''''''''''
0 -*1 ; . 2 3 0 -*1 ; . 2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpg)T (PCA t%obeamliné[f)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

=107 B

aoa, ) (cm)

2 3
- (PCA f%)obeamlinéf)

o(o p./p

10°E

107k

-1 ; I : 2 3
10 L TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


